
What is
1/4 of x is 6 =
X=24. Because 24/4=6 The answer:  " x = 24 " .
________________________
  Note:
________________________
(1/4) x = 6 .

(1x)/ 4 = 6  ;

1x = x .

x/4 = 6 ;

x = 6*4 ;

x = 24 .
_____________

How to construct a regular polygon through a circle using a compass and straightedge
Which of the following describes a high-intertidal zone A: completely absent of sunlight
B: the intertidal zone only cover by high tides
C: the area of lowest elevation in ocean tidal zones
D: the first 600 feet of depth in the open ocean
Is the sentence simple, compound, or complex? We had walked for two hours, and during that time the storm began. A. simple B. compound C. complex
The student council at coyle middle school decided to do fundraiser selling candy Each $50 box of cany soldmade the student council 47% profit how much will
the student council make in profit from each box of candy
A company makes auto batteries. They claim that 86% of their LL70 batteries are good for 70 months or longer. Assume that this claim is true. Let p be the
proportion in a random sample of 80 such batteries For a populations that are good for 70 months or more. What is the probability that this sample proportion is
within 0.03 of the population proportion?
What is the basic condition when a neuron is described as polarized?



The science class is taking a trip to the science center. There are 20 students and an unknown number of adults chaperones going. The bus holds at most 35
people. What is the greatest nuber of adultes who can chaperone A. 5
B. 10***
C. 15
D. 75
Can you guys help me with this question...1+10x4=?
6a X 4 and 24a is it equal or not? ?
Name at least 4 other gases besides oxygen and nitrogen
Which of these is defined by population, territory, government, and sovereignty? A. nation-state B. civilization C. parliament D. district E. federation
What might be an advantage to making a magnet horseshoe-shaped?
Which ordered pair is the solution to the system of equations? 2x-5y= -5
x+2y= 11
A) (3,4)
B) (5,3)
C) (7,2)
D) (15,7)
Urgent. Will give brainliest and 20 points!! The vertex of the parabola is at (-3, -2). Which of the following could be its equation?

A. y = -2 (x-3)^2 + 2
B. y = -2 (x+3)^2 -2
C. y = -2 (x-3)^2 -2
D. y = -2 (x+3)^2 +2
Which hygiene claim is supported by research? A) There are no benefits to handwashing
B)Regular professional teeth cleaning improves dental health
C)Antibacterial soap prevents disease better than regular hand soap
D) Brushing with a fluoride toothpaste helps prevent cavities
Two sisters, Allie and Bonnie are saving money for a trip to Europe. Allie has $1500 and adds $500 each month to this amount. Bonnie has $2300 and adds
$400 each month to this amount. How many months must Allie save to exceed the amount of money that Bonnie has saved? A) 6 months
B) 7 months
C) 8 months
D) 9 months
The returns on assets C and D are strongly correlated with a correlation coefficient of 0.80. The variance of returns on C is 0.0009, and the variance of returns on
D is 0.0036. What is the covariance of returns on C and D?A) 0.03020.B) 0.00144.C) 0.40110.D) 1.44024.
Determine the slope between the points (-1, -5) and (5, 4)
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